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y =ax+b s,” =a’s, s, =|als,

1 n _ 1 n . 3.2 n .
sf=—"_ —y)P=—Y (ax. —ax)’ = X —X)? = a’s.?
ST 2O = T ax)” =D (6 —x)” =as,

y=59 vy, =10x +5

s,” = %(302 +16°+9° +18° +37%) =732.5=100x7.325

Js, =+/732.5 = 27.065 =10x 2.7065
® o
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© AH= %714 (Quartile)

M 1 ARESH S = Ml 25 =94
M 2 AbH29| 4 = Ml 50 294 = S
M 3 AREF 4 = Ml 75 WE 5

o AHZS1 4 ©19] (1R : Interquartile range)
Igr =AMl 3AEF T - M 1L ARES=
KF& T} 29 43 50 77 9601 2

ML ARES5 Q tn=9 p=025 np=225 Q =x,
n=9 p=0.75 np=6.75 Q,=x, =34

=19

M 3AME9TQ; :IQR=Q,-Q,=34-19=15
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© HSH S (CV : Coefficient of Variation)

CV = 2100

© Y2l (Range)
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n=20 248 260 270 274 295 301 308 310 315 315
320 325 332 333 334 334 356 368 370 388

295+ 301 315+320

2 3k=248, Q, = =298, =% 3k== =317.5, Q, =334, =t} 4t=388

IQR=Q,—Q, =334-298=36, 1.5xIQR=54, 298—54 =244, 334+54=3

240 260 280 300 320 340 360 380 400
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N2t H = 2fm;) T4 (1) m, f,

89.5 - 99.5 94.5 6 567
99.5-109.5 104.5 11 1149.5
109.5-119.5 114.5 6 687
119.5-129.5 124.5 6 747
129.5-139.5 134.5 1 134.5
139.5-149.5 144.5 2 289
32 3574
> m?f, =405218 > x =3561
gz%zm.asm X :1:2“-281
) > %" =401765
s, == (¥ m?f, —>2) _ 195,060 :
31 P g9 s =177.18

s, =13.97 §s=13.31
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A7t Agskm) =f) mf mf
5

1- 3 4 12 36
5-9 7 8 56 392
9-13 11 10 110 1210

13-17 15 8 120 1800

30 298 3438
X, = 2 _g93
30
2
5, = (3438225 ) _16.48
29 30

S, = 4.06
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Z Qoo AT

+ 3L (Symmetric bell-shaped distribution)2| & 2!

X, s P FOIM oS u,
XES 72500 68%
X+2s 72Ho]l 96%
x+3s T2l 99.7%°| At= I} ZtElC.

Y

99.7% of data are within

A

3 standard deviations of
the mean (i — 30 to u + 30)

lg——————— U5% within ————————]

2 standard deviations

|e—— 65% within —»
| standard
deviation
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